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QUESTION 1

A customer needs to serve 40 TB via file protocols including SMB and FTP to a board range of client operating systems
in one location. Security protocols dictate that data must be encrypted with FIPS 140-2 compliance. Which HPE storage
solution should you recommend? 

A. HPE 3PAR 8200 using self-encrypting drives with HPE 3PAR File Persona. 

B. HPE MSA 2052 Storage with HPE StoreEasy 3850Gateway 

C. HPE XP7 Storage with Encryption Ready Disk Adapters 

D. HPE StoreOnce 5500 with Data in Flight encryption 

Correct Answer: A 

Reference: https://h20195.www2.hpe.com/v2/getpdf.aspx/c04199812.pdf 

 

QUESTION 2

How does the HPE StoreVirtual VSA storage platform scale performance and capacity? 

A. eliminates the need for storage controllers 

B. enables access through multiple protocols 

C. aggregates all resources into a single storage pool 

D. recreates storage pools on multiple devices 

Correct Answer: D 

 

QUESTION 3

In an ISCSI based storage system proof-of-concept project, the customer is not satisfied with the performance of their
video streaming application. What would you recommend to the customer to optimize the existing environment? 

A. Enable hardware iSCSI initiator 

B. Enable jumbo frames on required components. 

C. Increase the switch buffer to buffer credits. 

D. Consolidate the heterogeneous switches in the network. 

Correct Answer: B 

 

QUESTION 4
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Which HPE storage solution offer a two-tier backup solution for hybrid cloud with optimal recovery time? (Choose two.) 

A. Simplivity 380 

B. Nimble SF series 

C. 3PAR 8000 series 

D. StoreOnce with Catalyst 

E. Nimble CS series 

Correct Answer: AD 

 

QUESTION 5

Which value does a Nimble solution provide in addition to other HPE storage solutions? 

A. Flat support pricing for all hardware components 

B. Future-proofed for newer technologies 

C. All-inclusive software licensing over 5 years and additional capacity upgrades 

D. Upfront option for free controller upgrade after 3 years 

Correct Answer: B 
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